
BID INVITATION NO.: 4441 

ISSUED: OCTOBER 16, 2023 

 
FOR FURNISHING 

NEW REPLACEMENT & REPAIR PARTS FOR COMMISSION OWNED 
CAT-350™, SRT-31™, SKT-SP-350™, SKT-SP-MGS™ & MSKT-SP- 

MGS™ IMPACT ATTENUATOR & GUARDRAIL TERMINALS 
 

OPENING DATE: 2:00 PM (EASTERN TIME) on OCTOBER 30, 2023 

LOCATION: MICROSOFT TEAMS LINK: 

Bid Invitation No. 4441 - Click to Join 

 

 
 

OHIO TURNPIKE AND INFRASTRUCTURE COMMISSION 
682 PROSPECT STREET, BEREA, OHIO 44017 

DEPARTMENT OF CONTRACTS ADMINISTRATION 
440-234-2081 

purchasing@ohioturnpike.org 
 

SUBMITTED BY: 

COMPANY NAME: Firelands Supply Company 
 

STREET ADDRESS: 18 South Norwalk Road 
 

CITY AND STATE: Norwalk, Ohio ZIP: 44857 
 

 
 
 
 
 
 
 
 
 

mailto:purchasing@ohioturnpike.org




















Trinity
System

Type

Item
Number

RSI Part 
Number

OTC Part 
Number Description

Part Cost
(Includes freight
FOB Destination)

Estimated
Quantity
(Each)

Extended Cost

Bidder to Insert Here the 
Percentage Rate Discount or 
Up-Charge Offered Based on 
Current Parts Price List.  (For 
components not separately 

listed by item in the 
Proposal)

47 SF1303 24141
W-Beam Guardrail End Section, 12 Ga.

10

48 G12025 24142
W-Beam MGS Rail Section (9'-4 1/2")

10

49 MS3000
Impact Head

7

50 MTPHP1A First Post Top (6x6x1/8" Tube) 7

51 MTPHP1B First Post Bottom (6' W6x15) 7

52 UHP2A
Second Post Assembly Top

7

53 HP2B
Second Post Assembly Bottom

7

54 E750
Bearing Plate

7

55 S760
Cable Anchor Box

7

56 E770
BCT Cable Anchor Assembly

7

57 CT-100ST
Bearing Plate Retainer Tie

3

58 B5160104A
5/16 x 1 Hex Bolt Grd 5

5

59 W0516
5/16 Washer

10

60 N0516
5/16 Hex Nut

5

61 B580904A
5/8 Dia. X 9 Hex Bolt A449

2

62 W050
5/8 Washer

25

63 B340854A
3/4 Dia. x 8 1/2 Hex Bolt Grd A449

5

64 N030
3/4 Dia. Hex Nut

2

65 N100
1 Anchor Cable Hex Nut

2

66 W100
1 Anchor Cable Washer

2

67 SB12A
1/2 RSI Shoulder Bolt W/ Washer

15

68 N012A
1/2 Structural Nut

15

69 W012A
1/2 Structural Washer

5

70 B581402
5/8 x 14" H.G.R. Bolt

2

71 N050
5/8 Dia. H.G.R. Nut

2

72 B580122
5/8 Dia. X 1 1/4 Splice Bolt (Post #2)

2

73 MS785
Strut

2

74 P621
6x9 (6x8.5) Steel Post

2

75 P618
Recycled Plastic Block or Equiv. 

2

76 G1203A
W-Beam MGS Rail Section (12'-6")

2

*Estimated requirements are based on current inventory amounts and past orders over a 12 month period. The Commission makes no representation that it will actually expend such amounts.

GROUP 4 - DELIVERY TO THE HIRAM MAINTENANCE BUILDING
PROPOSAL FOR MISCELLANEOUS ROADWAY SYSTEMS INC.

SKT-SP-350 AND SKT-SP-MGS, AND MSKT-SP-MGS PARTS
M

SK
T 

- S
P 

- M
G

S

Indicate Plus or Minus:

__NET_____.____%

Title of Parts Price List:

_MSKT-SP-MGS_______________

Date Issued:

____10-27-2023_______________

Price List Number
(If Applicable):

___________________

GROUP 4 TOTAL BID PRICE
ITEMS 1 THROUGH 76

6-11

195.00 1950.00

95.00 95.00

980.00 6860.00

120.00

285.00

77.00

135.00

32.00

63.00

81.00

4.50

.60

.25

.45

6.75

.40

6.50

1.25

3.00

2.00

4.00

2.50

1.25

4.25

.60

.80

98.00

65.00

12.00

95.00 190.00

24.00

130.00

196.00

1.60

1.20

8.50

6.25

37.50

60.00

4.00

6.00

2.50

32.50

10.00

13.50

2.25

2.50

3.00

13.50

567.00

441.00

224.00

945.00

539.00

1995.00

840.00

$46,035.40




	CC8100 Section 6 MASTER Bid Form Schedule Invitation.pdf
	Group 1 Trinity - Elmore
	Group 1 Trinity - Hiram
	Group 3 RSI - Elmore
	Group 4 RSI - Hiram

	ADP840E.tmp
	SUBMITTED BY:




